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1.

Find the perimeter of the figure.

2 p=A+87rc t/
9 feet F: G-t c)-'rf/ ¥

\

A O et ‘é
Pz [5Tl v

The perimeter is : feet.

Answer: 26

= e
) P= 2L~20n
Find the perimeter of the figure.

Rectangle pe  PEE()E()
angle 'A;L p: ’o’«-f v
'S P=-/2
Answer; 12
3. Find the perimeter of the figure. gc,m PprBrC~+D +é’ -+ F‘
@-'(Jmclcrs P:G‘r'/o-fé-{—g-{.;z_--f-/c
P=/ G+ 6+ 6tllr/6
@ = 6 meters 16 meters @
, /= 21 +6rlit+/¢
@=/6~6—/0- PR SN

g

' % . LT 4
The perimeter is !:l - @:' L6 =G ‘/

—\.
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-_'_'_'_'_'_'_'_'_'_'_,__,—o-'—
4, 9 meters
Find the area and the perimeter of the rectangle shown to the right. =
i 1
_ |
i ] 6 meters |4
r J E i _*:3"1?
, M= L w
The area of the rectangle is : (1}
A= (aX¢)
e
The perimeter of the rectangle is :’ 2) @ z S'_C//’/)
(1) O cubic meters. (2) O cubic meters. ~2¢+2 o/
() square meters. (O square meters. 2 ( g)
) meters. ) meters, / =2 (7 )T
7=/ 71/ T
Answers 54 @‘
(1) square meters.
30
{2) meters.
5. One triple fudge brownie contains 101 calories. How many calories are in 12 triple fudge brownies? /7 0/
_ /12 X /2
L ——=
/Y A 2 02
v = £l (1) Cross mudh e
Answer: 1212 - | 21
- &= 7Ziz D

6. Find the average value of the following list of numbers. /o (4 (225 2T+ 23 _

10, 25, 28, 27, 11,13

The average value is l

Answer: 19

7. Simplify.
27+8+7

6

Select the correct choice below and, if necessary, fill in the answer box to complete your choice.
{

(DA, 27+8+7=

(O B. The expression is undefined.

Answer: A. 27 +8+7=| 83
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8. Simplify. @/}:’ DZ}H_)

32+8-~-2 -

Select the correct choice below and, if necessary, fill in the answer box to complete your choice.
¢ .,
32—8-C =

() B. The expression is undefined. Lf Z -

— &,
Answer: A, 32+8-2= 2

() A, 32+8-2=

T e RPN i e
9. Simplify. ' ,p(_—’/"' NYER
4+3+8-8 ( Q

Select the correct choice below and, if necessary, fill in the answer box to complete your choice. 9/‘ 3 ,_,L f' 3 =

O A. 4-3+88= 6/2 [+ Feg~

() B. The expression is undefined. _—/_:___Y / 2+ € & -
76

Answer: A 4:3+8-8= 76

10, Simplify. Cf?f:;)_ ji:‘

(4+5)+(6-4) =

Select the correct choice below and, if necessary, fill in the answer box to complete your choice.

OA (@45 6-4) (¢+5)(6=) =

) B. The expression is undefined. ( q) ¢ ( 2) =
9.2 =

Answer: A (4+5)+(6-4)= 18 | .

N

11. Sim:tft[m_m_s)] CZ/&’M /)A'D

Select the correct choice below and, if necessary, fill in the answer box to complete your choice.

4
) A. 34-[21-(11-6)]= 3 ""[,2,/ - (’/ "6)7
() B. The expression is undefined. jtf_ C 2 — (57] -
Answer:A.34-[21-(11-6)]= 37,__ [Z’PS-J -
323:3.3 — /6=

o 8 —LhZ

3 0f 55 e & . 21920195733 PA
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12. Evaluate the expression forz=2, C/M/)}A’) 5 -7~ 6 g i

5+ 6z 5’75 C(Z) <
s+6z=] | S /2 =

Answer: 17 @

.‘—'_'_._-_'_'_._'_._-_._._ - - -
13. Evaluate the expression for x=4 and z=5. /QJ%‘DA ~ 5‘ )(_Z’_Z_ - Cf >< =

Sxz - 4x ,-/(’ f(é)(s—) "'(//Q‘J
N 1 g%g7wu~
Answer: 84 ; 174 -/ =
e W

................. —— = —

= ———
14, Evaluate the expressionforx=3andz=5. { Z{ /"'D//’.S :"j l Z _
— )

7x-z=:’ 7/3) """({-) =
2| —§5 =

Answer: 16 / 6 )
) R e — e e T
15. Evaluate the expressionforx=11,y=3, and z= 4, ‘ /_‘j_ 2 )

X+ 3y
4
x+3y_ O ’)+3(3)— @
Answer: 5 I~ 4 _
— e T e R,
16. Evaluate the algebraic expression for the given value, )( _Z__ ra X ~+ J -
-2x+8, forx= l :
x> -2x+8, forx=5 (57 — () § -
When x =5, x° - 2x+8 = . o -
(Simplify youxr ans:rer.) :I ((/}/S—) Z (J-) T f 2
28 —f0 ¢y~
Answer: 23
- Ve o e
i . et —
17. Simplify. @D = e
4+6+2-11 & ~FGe2 —I] =
L L — Gr(2~/] =
Answer. 5 /6 '_/ ( :
! e . EE
I T

4 of SSK 2719/2019.3:23 PA
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18. Solve. Check [ CMC
. Solve. Check your solution. —
" Sl XT1G T/
x+9=14
Eri=ry
The solution is x = {: ’(":,‘ ? Y.
=/
Answer: § /q/ —_/V ; JCL
19. Solve. Check your solution, j —Z- Thecke

12y-2 /+L" 72,’-&{ [=y—2

The solution isy=:. 3= //:: g(}._)_;_—_L
s S— /=) CGod
20, Solve, " - CJ‘\ el = =
e s TY=5Y G = 5

The solution is x=[:|_ ,%_ :/2’9‘/- ?/6) - 5'9/
—(y — C{
Answer: 6 /r’: | ) _S (/ r i

21. Sol\;e the equation. First combine any like tem side of the equation, C'h eC k
x-8= -3+4 X—7< -3vY X— 7:'37“9/
The solutionisx=[ | K»—-? = (q)'— 7~ >
X 7__{_ . I’fi q— j — 3
Answer: 9 ’—/5——> { o , 6—0 ”(
el o em H=9) e Y
22, Solve the following equation. _‘q:?ff:) C ,’1 € Ck, B
3x-18=0 SA x—1¥=0

: A AT =0Ty =
] 3/,_ /7 ; (T~ (F =0
Answer: 6 ’?_ ~ LDZ /( - 6_ o O :Oéouﬂ(

e - e S
= e

23. Solve the equation. . a — — ( A eC é_ B T~
5+ 15 =45 SH +/5= & gj:/ﬂGT/y’}y;-—
] P4
SNUTAHE (T T 3op/5 ’C/Ji
Answer: 6 S‘ /) - 3 O

S e PETITE e © Z972019.3:23 Ph
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24. Find the prime factorization of the fellowing number. 5 7 _;_7

2 Ve
102
387
The prime factorization of 102 is L / 7 / 7
I

Answer: 3-2-17

e —
——

2. 4 . N I)(z
Divide - 5 + B. Write the quotient in simplest form. - lf i CZ’)( 7 )(Z )

o &7
s
4
-5 +8= :] (Type an integer or a fraction.) ,_,/C_f_,_‘;_ / - | )ﬁ)ma f( —
)
Answer: l
" 10

26. Perform the indicated operation,

p 7
-—
12

Answer: 48
7
—_— .

27. Perform the indicated operation.

8 7

11 55

Answer: 40
7
——— ——— T e e
28. 1
Find 2 of 12.

1
= of12is I {Simplify your answer. Type a whole number, fraction, or mixed number.) Z,é% 7'(_{"

4 N
Answer: 3 # //&/ - @ ﬂ)@ﬁ/ . L' 3 LJ,
_________________ /2 [24) |

: =

;! gz/@g):) =
(Pw ! “
bof S~oronoom————____—_— T T 2/1972009, 3:23°P}

&
® ;
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7 ﬂ)—' 77 A )//7////;(7
29. 7 .—— —
Find 3 of 54. Write the answer in simplest form. 3 &‘L d(S’t/
1 5’ Y 2 L, 3 (,7

)( 3%3/ )30 - (Wre)es) )(3) 33—
Answer: 42 (%r | i V(—

— e

7
9 of 54 is i . {Simplify your answer.)

= =
30. Subtract and check the following. / 9/ o

14-14 ~ /o

- . f__—_-.—J
14-14=[ " I(Type an integer or a decimal.)

Answer. 12.6

L S
—_— —, e —

31. Alandscape architect is planning a border for a
flower garden shaped like a triangle. The sides \
of the garden measure 16.3 feet, 24.66 feet,

P At BrC
/}_/g 3¢ 2Y, (6—(-23 g

and 23.8 feet. Find the amount of border 16.3 feet 21,8 feel
material needed. A \ / c - L
: Yo
ZyY.C6
The amount of border material needed is‘ feet. + 23,409
(Type an integer or a decimal.) —_—

6
Answer: 64.76 6 7.7

32. Use the values of the coins given below. Write the value of the group of coins shown o [ LR\
to the right. To do so, it is usually easiest to start with the coin(s) of greatest value @} @ @ )
and end with the coin(s) of least value. 04 - ]

: . @ Z 'Y ] / 0 ’ T AT
Penny  Nickel Dime Quarter Fi 3N Fady 3
ﬂ-"- Lﬁ . ﬁ | _‘,).?
1'.. |"\-\. == 1“&‘17 =
L @; A% 5
W o R |
$0.01 f0.05  $0.30 »'E.-.qj’ ,#

The total value of the group is $

Answer: 1.10

=

7 of 55 2/19/2019,5:23 P
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33.
Find the circumference of the circle in terms of x. Then use = 17 ( 2 D
the approximation 3.14 for x and approximate the o )
circumference. C =~ 2/ 1‘T Sy
' ¢ = 3.5 D
a. Find the circumference of the circle in terms of n.
{
The exact circumference is [::l ft. g /(f
b. Find the circumference of the circle using 3.14 as an approximation for x. X 3 /
The approximate circumference is : ft. (Round to the nearest hundredth as needed.) ?/ Y
9=
3¥
Answers 31 70
97.34
> i e s _""'--.___,_.- '_'_"""‘"—-—-——'—'— ~a -
34. Find the circumference of the circle in terms of w. Then /" [o$— Vs T =7 D
N =T (3.2

use the approximation 3.14 Jor n and approximate the

circumference. A - D 2r ';;j iy w

X 2 p=2(ls) | ey
Y\ .?D
J.0 VEELL . 9 C:B/vﬁ.a)
C ﬁ SO

i

a. Find the circumference of the circle in terms of .

/
The exact circumference is !: yd.
} o / Y
b. Find the circumference of the circle using 3.14 as an approximation for x.
)( 2 2
The approximate circumference is | yd. {Round to the nearest thousandth as needed.) - D0 I7;
ﬂﬁa
Answers 3.0n 4
] o(f / U
9.420

35. A 1-ounce serving of cream cheese contains 6.7 grams of saturated fat. How much saturated fat is in 7 ounces of cream
cheese?
Y A 4 e.7
e Ge7 A X_ 7
- CrussS 7 w%
/(ﬂ)_(-?/')) f‘{ﬂ

Answer: 46.9

M

B of 55 2/19/2019.3:23 P



MATH7-8THGRADEWARMUP149M-Alfredo Alvarez https:/ /xlitemprod.pearsoncmg.com/apifvi/prine/mat

36. The screen of a portable dlgltal device is a rectangle that measures 4.5 inches by 2.6 inches. Find the area of the screen.

'
The area is square inches. {(Type an ;}tegg_ or a decimal.) Z - ‘f ' A- L “
Y

, X 2-6
Answer: 11.7 -———m“

NSO~ =S < - <

1 x —
37. The diameter of a ferris wheel is 160 feet. Find its circurnference. Give an exact answer and an approxlmatlon using 3.14

for =. (’-‘ ff-D D=r¢= < = 2‘/({])
The circumferenceis |  |feet. CE=TT (7 69) C= 5./ (/60)

(Type an exact answer in terms of x.) l
S
C = soe. )
The circumference is approximately : feet 3, / <’/ C }/ .

(Type an integer or a decimal. Round to the nearest hundredth as needed.) X / GO

tooo
Answers 160w /fy &
502.40 2L -
e R T cJdz2.¥
— = = e e ——

38. A meter is a unit of length approximately equal to 39.37 inches. If someone is 1.98 meters tall, what is his or her
approximate height in inches?

Using the given conversion, someone who is 1.98 meters tall has a height of f___\ inches.
(Type an integer or a decimal.} / - .

Answer: 77.9526 = 2 9 27 // 99) Cs> Mﬂut‘\(‘

S

% Consier v i insgn_ [~ Z_- © =y s
&
- 77D o F=<%

Cz3/9D Of 6:@

> Zu
a. Approximate the circumference of each circle. Use n=3.14. y= =2 ( 3./ ‘f)/ 22 )
The circumference of the smaller circle is approximately meters. C A 2 3 ( 27 )

{Round to the nearest hundredth as needed.) CT‘,\
The circumference of the larger circle is approximately :' meters. (— - / 5.6 Q

{Round to the nearest hundredth as needed.)

= o
b. If the radius of a circle is doubled, is its corresponding circumference also doubled j
C. :Z (3:/"/(9-’)
) Yes é L}-f C < G- 2 4 (VJ)
) No o

yes > (c=27142 )

Answers 125.60

251.20
Yes =
g —_—
S— T e - et S o ik 2 =

9 of 35 2/19/2019,3:23 P
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40. Find the decimal equivalent of the following fraction.

11
20

Answer: 0,55

r

41. Solve the following equation. G/ ,( - ~15.r53 9.1 ﬁ?’f‘ '
9.1x= - 75.53 - 4' [ X _ _7}15 3 13-3—
= (Type an integer or a decimal.) ‘? . ? / 2773

Answer: — 8.3 £~ 0
: e — - — -
42, Solve the following equation. 9’ G o) + 7 l < 6 . ‘j —¥. 6
46y+7.1=6.6y-46 7 ¢y +2T— 24 = G(G‘j ’;/?‘7‘ —~ 71
The solution is : {Type an integer or a decimal. )52/6' ;9_ G-:Gi :7 (' 6,7 '-/( 7 - s 7
Answer: 5.85 k= ~f{.7
i o —27_ ~lh 7= S0 S

43. Find the mean, median, and mode for the following set of numbers. i necessary, ¢ , round the 1 mean to one decimal place.

> (TC 75, /7, 2,23 >
The mean is

(Type an integer or decimal rounded to one decimal place as needed. Use a comma to separate answers as needed.)

The median is :

(Type an integer or decimal rounded to one decimal place as needed. Use a comma to separate answers as needed.)

15, 22, 23, 18, 12

Find the mode. Select the correct choice below and, if necessary, fill in the answer box to complete your choice.

() A. The mode is

{Type an integer or decimal rounded to one demmal place as needed. Use a cgmma to
separate answers as needed.)

() B. There is no mode. [ 2‘7‘/”4/7_"22"‘23
s

Answers 18
18

B. There is no mode.

10 of 55 ' 2/19/2019.3:23 Pi
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44, Solve the proportion. _,f__ - X
i _X i 2"‘/
8 24 . /
X =! | {Type an integer or a simplified fraction.} / Z() - y 'X
Answer: 15 %_‘-J- - %
— T ——— e — e, — T : ~

45. A stereo normally priced at $880 is on sale for 40% off. Find the discount and the sale price.

The discount is $, . :/ o P D
s /ﬁ; 370 — F 0 c o)

p= zi(f“_ 352
Answers 352.00 A - r27 5/4(—(’ /"l\-& -

528.00

The sale price is g ,

46. A company borrows $54,000 for 3 years at a simple interest rate of 5.5%. Find the interest paid on the loan and the total

amount paid. A - /-f //?7_
The interest paid on the loan is $::]. A’-’ £ J60 s ooo 6 o S’S”)('%)

The total amount paid is 1. /4’_ C¥ duu + £¥ 000 C,/(}’) ﬁ
Answers 8,910 ﬂ’:’ ry 00) —f f?‘/o @/{/’)f:- /7/)

62,910 i:: 6%/ @%:/ :ﬁéz@

— e — -—""_"'—""_—"__'_'-h-—\_._‘_‘_‘_ = e _'_‘_'_‘__'_'_'__-‘:'-";——._____‘___‘_\_
47, ooty
The circle graph is a result of surveying 700 college (

i
. . ian's h
students. They were asked where they live while attending W
college. Use this graph to find where most of these college @ Off-campus renta

students live. [E]1 Campus housing 150
[C] Other arrangements 17
B Own off-campus housing 58

Choose the correct answer below,

(O A. Off-campus rental

(O) B. Campus housing

(O €. Own off-campus housing
() D. Other arrangements

'B{ Parent or guardian's-home =
==L e

e —

Answer: E. Parent or guardian's home

11 of 55 2119,2019,3:23 P
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48.

The circle graph shows the number of students at Rockford Major and # of Students
College who are enrolled in various majors. Find the ratio of (| B Business 40 1=
Science majors to Business majors, c Sci 1800
)’C./ et B Computer Science 180
ot g [ Science 1000 €=
The ratio is . [Betdrm2 5> [] Engfish 2000
(Type an integer or a simplified fraction.) / - [l History 700
f,_ lo9 B Social Science 2500
r‘
Answer: 1
4
Mfﬁl s =
The follqwmg circle graph shows the relative sizes of North America 16% Dﬁ’
the continents of Earth. 5
| Asia 30%
What percent of the land on Earth is accounted for 0 Australia 5%
by South America and North America together? ] Europe 7%

@ Antarctica 9%
q"._s'o'u America 12% | &
[ B8 soulh Amenca T

@ Africa 21%

/6 %
+ (1

Answer; 28

50. The total amount of land of some particular countries is approximately 64,000,000
square miles. Use the graph to find the area of the Country A.

Country A 20%
0 Country B Z3%!|
H Country C17%
B Country D 11%
l Country E 5%

[ Country F 18%
@ Country G 6%

The area of the Country A is approximately l | square miles. 6 9; OOJ/ Ooo

. e T
Answer: 12,800,000 L__’/—""L;-‘

_— g(_)_(__’]_(? 00 ©
ppo 2 0Y '

12 of SW 2/19/2019,3:23 P
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§1. The circle graph to the right shows the
percent of the types of books available in a
library.

__'_._,_.--'—-—‘—‘—-

‘@ Adults fiction 33% &

[ Reference 16%

B Other 4% i
Children's fiction 22% | ¥

What percent of books are classified as some

type of fiction? 34 9, @ Nonfiction 25%
4 22
e et
S5 @, )
The percent of books which are classified as some type of fiction is [:‘%.
Answer: 55
P et
52, ;
Find the square root. ﬁ:[:l - C/‘ = 3‘,5 |
Answer: 3
e —— _J_.__..:-.._....d—"'_"-'-_ - _ — e —— — 3 .1_. 2- ——t P—
1 : — ~ L
%3 Eind the length of the third side of the right triangl OL‘;L) a—fé —LC l
e e
in ength of the third side of the right triangle ¢ (i) %—f (/r) - C

A
Wy b ;
The length of the third side is : | (J]235 = ( JCt
Answer. 17 /7 =

54. Sketchthe rughthjgle and find the length of the side not given. If necessary, approxlmate the Iength to the nearest
thou h. . P
oAb \e) C =Wt ale bz ct
r-eg:;. eg=4 a-:_B 3
- (3)= (/%=
What is the lérigih of the side not given?
Ty T1/c= ct
| | {Round to the nearest thousandth as needed.) _
L£9 252 Ct

Answer. 5
t"

B e

e e i \F——
55. Sketc&fhe right triangle and find the length of the side not given; Wy E - a Z éd,_ C L
leg = 3, hypotenuse = 5 L{) a - 3 (3) C_f L

The unknown length |s|__———_| Ly lj': 7 qw’__f_ b L 2/ r-—

(Type an integer or decimal rounded to the nearest thousandth as needed )

Answer: 4 | / bz '-/r 2
E_ 7 o e A
VLo

13pf58 o —————= = . —4920H93:23 P
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56. Determine whether the pair of triangles is congruent. If congruent, state the
reason why, such as SSS, SAS, or ASA.

. 16 in. 17 in.

15 in. Sl '
 17in o ~ 15in

Choose the correct answer below.

Congruent by S8S

(O Congruent by ASA

(O Congruent by SAS

() Not congruent

Answer: Congruent by S58
— - - --—~—.—._,—-—'—-———.._——-—‘—'_—'_'—'—-—-_._|__—

57. Determine whether the pair of triangles is
congruent, If congruent, state the reason why, 50 m 125 ° 9T m
such as SS8S, SAS, or ASA,

Choose the correct answer below.

() Congruent by ASA
() Congruent by SSS

Congruent by SAS
() Notcongruent

Answer: Congruent by SAS

- S S s _-_'_'_‘—'—-—._,_
e == A 6 e
58, Find the ratio of the corresponding 35 2% A -
sides of the given similar triangles. &
18
2
N\ " 35

The ratio of the corresponding sides of the first friangle to the second triangle is i
(Type the ratio as a simplified fraction.)

Answer: 5
4

14 of 55 e 2/19/2019, 3:23 P}
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59. Given that the pair of triangles is similar, find the length of ' SO _ 29 C s
the side labeled n. / ‘f A -
30 “ws

0 700 50 0 = '-’(7-’
S:L,’ﬂ,, W gow)= IA7)

20 0 o LN sons - 560
VA _ 2
—¢v) sl
_ O : -
Answer: 18 re - A/ /ﬂ

(qur?s W'MQ}(
X lpu.s)= 18(7) @
(0. 5K - (¢
Yo.s  [Jos I

60. Given that the pair of triangles is similar, find the
unknown length of the side labeled with a variable.

. o 2
rewrile - 7N
e

The unknown length is : unit(s).

Answer: 12

61. Atriangle is formed by the building's height
and shadow. Anather triangle is formed by
the flagpole's height and shadow. Using the
following diagram, find the height of the
building.

R e

—

(. 2z
6‘0 CVde
2()&E g’()() - gk{za) ”’W

The height of the buildingis| | feet.

Answer; 160

15 of 55 2/19/2019, 3:23 P
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62. Draw a tree diagram for choosing a vowel, (a, e, i, 0, u} and th
possible outcomes,

<

a number (1 or 2), Use the diagram 1o find the number of

O A.

O
o

=]

AN AN AN AN

fad 1 =

2

\

EQS =00 o0 -

L

<
L 1 o Bad 1) = Md 1D = Tl ) =

da

N

=

Based on the tree, what is the number of possible outcomes? [:l T

nswers 1 -

Al a<2 = (L
e 4
. o1
1\2
o, /,
ul! € —1

5 2

16'0f 55 2/19/2019. 3:23 P
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fagra inRing Spinfrer-A-ttime

diagram to find the number of passible cutcomes.

|

Spinner A

|
A
KAN

O
=

Based on the tree, what is the number of possible L C.
autcomes? R

] v

Answers - / > B

|

i\
L)

R cmR <O

A
\
/|

Draw a tree diagram for spinning Spinner B one time. Use Choose the correct tree diagram below.

the diagram to find the number of possible outcomes.
Spioner B D A. O B.

1 1 1
3 - % 2 < 2
e 4 I .
.- 3 3 2 ;
@ 4 4 % PO
: el !
Qc. QO D.
Based on the tree, what is the number of possible I 1 1
outcomes? » > - % % éz
] ) i 4
1 1
2
4 4
Answers é l
D 4
4
T p—

17 of 55 2/19/2019.3:23 P
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e . - = IR

65. Draw a tree diagram for spinning
Spinner A two times and then Spinner
B two times. Use the diagram to find
the number of possible outcomes.

" B
\
O A O B. O c. -
e R ! RED BRANCH
R €= Bue R < Bix
< ellom < Yellon 1 < 2 samie as Blue Branch
165 & s RE B & B 3 '
Yellan Vellow 1 | < .
Red Red e
Y Y 2 = F
2 2
R égun R € b 1 -< 3
ellow Yellon 3 5 R .I|
Red Red =
2 3
200 <t B <2, < <<
- Red Red 1 H
1 4<:
AR 3T 1 3
3 LB Y B e !
< \'::mv < Y::on |<§
Red Red H
Y & B Y & Blue
< Ye‘l.lem\ Yellow i
R Bluc 3}
émm 1
4 i :
Y 4
S :
:

L N

YELLOW BRANCH
me as Blue Branch

l

Based on the tree, what is the number of possible outcomes? ! |

(’3/(’4)/9’)/‘//: ,_f_gﬁ_
7 (¢)(v) - [

w—

.

_'_‘"'\_\_H_________._._._ﬂ___——-—-——_._.______‘_‘_-—#_____ ——r i

18 of 55 2/19/2019,3:23 Pt
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19 0f 55

Answers

REIY BRANCH
same as Blue Branch
i
2
| < 2
4
|
2 2
R é’
:
3<3
4
1
3
3
l
:
<
1
1
2<§
B B *l
3 <5
4
B
"<i
i
.
'€3
4
I
] 2
i {-3
! <!
3 3
i
1
K] <2
J
]
YELLOW BRANCH
D, same as Blue Branch
144

https://xlitemprod.pearsoncmg.con/api/v1/print/ma
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i
66. Draw a tree diagram for tossing a coin
two times and spinning Spinner B L
two times. Use the diagramtofind the |
number of possible cutcom

—

—
-
[ R P P ST TR R

[esd
—

Cl™

AN
AL N N

-~

-

V.V VYY)

PN

Based on the {ree, what is the number

COLZ
€06/
/e(¥)

’

ol

H

13

H

H

"

n

.

~n

"

"

11}

- hups:Iliwmprod:pearsoncmg.com/api/v l /print/ma
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Answers

-

™

F™
™

o

A A A A AN A AN

-

b

e
PR VTP R

rpm b

N

(__—___._/___;_,__.-—.—-—-—-—'*"_— —— : : " =il
& |

67. | a single 12-sided die is tossed once, find the probability of rolling

The probability is !:| (Type an integer or a simpliﬁe_g fr%cti%n.) y
/) Z/SI}//'F/C) /s 7

Answer: 1

12

68. If a single 10-sided die is tossed once, find the p@bility of rolling a 1 or &5.

z, 35 7
The probability is ‘:] (Type an intege{ or ¥ simp’liﬁed fréction() /7 ard Z

Answer: % : f{(%

o e

Fh

69. [f a single 12-sided die is tossed once, find the probapilly of rolling af even n er. ‘ - o
. (8 5 () v (6) 7 /1
The probability is [: (Type an integ{a 4 s:mplrﬁ clion’ /] /

nswer. / Z’ ) .
A% o,
. Va

2ofss B T 7/19/2019, 3:23 P!
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70. Suppose the spinner shown is spun once. Find the probability of

spinning 4.

The probability is : (Type an integer or a simplified fraction.)

Answer: 1
4

Suppose that the spinner shown is spun ance. Find the probability
of the event that the result of a spinis A, B, C, D, E, F, or G.

71.

The probability is| .

{Simplify your answer.)

https://xlitemprod.pearsoncmg.com/api/v1/print/ma

Answer: 1
S

72.

The probability is ‘:] (Type an integer or a simplified fraction.)

Answer: 1

2

Suppose the spinner shown is spun once. Find the probability of spinning an odd number.

What is the probability that the marble is red?

The probability that the marble is red is l {Type an integer or a simplified fraction.)

Answer: 6
11

73. A marble is selected at random from a jar containing 6 red marbles, 3 yellow marbles, and 2 green marbles.

red _
all -
V:(c/

Y‘v‘i—-(— \/(//Jw"l"j_ff"""_:__

B = )

S
T

63
¢ —
Ik

F192019,.3:23 Py
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74. A new drug is being tested that is supposed to lower blood pressure. This drug was given to 200 pecple and the results

are as follows. :
/64
Lower Blood Higher Bilood Blood Pressure -——'d";" -
Pressure Pressure Not Changed l
30 164 6 ) o
If 2 person is testing this drug, what is the probability that their blood pressure will be higher? ( 5@)

The probability is :’ (Type an integer or a simplified fraction.)

Answer: 41
50
7% = , lZ?f
- Find the measures of angles x, y, and z in the figure. m||n.
51
-— \/ — M
128 ’N: P
- S .}'/'"- —— = 1
- ~
g 2

Lx= _ F X"f </ = [Fo

Answers 128

128
52
76. Find the perimeter of the following figure. / -2l € 2w

22((v)+ (i)
V g Zo—r“_?‘/

(/\/ 12| Rectangle

15 ft
Perimeter=|: (1)
(1) O #

O sq.ft
Answers 54
(1) ft

2/19/2019.3:23 P!
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77. Find the perimeter of the following figure. p = 2L+ 4%

P=2(/c)+ ()
/Pm‘allelogrmn NV ﬂ = 30F 7L

= 7 gy

Perimeter=l (N

(Y O sq.em
) em

Answers 44

\_—’(L—f/ -

78. Find the perimeter of the regular polygon shown to the right.
I8 in

w7
Perimeter=:(1) /:Zé’f?l«/ /?-L /: 4/4.

(1) O sqgin.
) in.
Answers 72
(1) in.
79. Find the area of the given geometric figure. 15m A‘__, % ( L j -+ EL) H
Trapezpid
E/ I4m
C

N A £ (17415) 14
\

The area of the t oid is I{i',i - l

(Simplify yourzn;aut::) Base /- 2032 (7v)

(1) O sam. B - f(??i)

) eum.
O m =22

Answers 224

(1} sqm.

24 of 35 2/19/2019, 3:23 Pv
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B0. Find the area of the geometric figure. J [ _ b 2¢m , 1
2’.—-2 i"‘z 4 < 25 em I_, S om
. ?4__|__x__f.
5 — z. :"‘ —_1 . 3
? s/ g 4 cm
75 =
B —

The area is (&)

. (Simplify y q;ur answer.) VC F—thj-l{\ fa ; O
. a‘fiﬂ 1\ ;Q\ﬁ") [l_!:-'\rz-v:;-x.\ @ T « 3>
{1) O centimeters 4 )0
O square centimeters M ! T/ t—_/i ) =7
O cubic centimeters /A'l - _2£ /g)/z ) IAL— ff}@ 4 L

Answers 35
TA L=
(1) square centimeters /.‘;l‘(__?_ 27 [/(/(/ /
81. Find the area of the given geometric figure, 9 mi e
7 O Q0
I 3
16 mi | ‘\ @
l Homi
: ]
4—q 20 mji ————» /
6
Th‘e arga of the figure isl l (1) e\ (' — 7
(Simplify your answer.) (__\ —r—
arte ’
(1) O mi /6 -—\_) 1 @
) sqmi.

O cumi.

Answers 221 ,44; -’ / 7// (/ (/ {)(7)

(1) sq mi.

25 of 55
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§2.
Find the area of the geometric figure.

Scm

5cm

(1) O centimeters
() square centimeters
{0 cubic centimeters

Answers 70

(1) square centimeters

——

i T

The area is I (1

(Simplify your answer.)

e ——————————

https://xlitemprod.pearsoncmg.com/api/v 1 /print/me

Gt |

Az L w

83.  Find the area of the given geometric figure. If the figure is a circle, give an exact area and then use

22

7 asan approximation for n to approximate the area.

The exact area of the circle is I {1}

(Simplify your answer. Type an exact answer in terms of m.)

The approximate area is ‘: (2)

(Simplify your answer. Type an integer, proper fraction, or a mixed number.)/f

(13 O sqin. {2) O cuin.
O in. O sqin.
) cuin. O in.
Answers 167
(1) sqin.
o
507
(2} sq in.

L U N SR

A=1rt
/=174
A= TT ()<
A= 77 178) é/)zab’k/

A =1677 > (1!
re |

27
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84. 22 p
Find the volume and surface area of the solid. Give an exact answer and then.apprommate using —- 7
for . D~ " ‘j/ T I" ' 12 in
PR S—— __-1
=410 Ve Fo( ¢y
.1 f - & ¢ 4
2 L‘E- 2 V= 7—77(6]/6)/6} / -
’r < _IE" ¥ =

Theexactvolumeis| | (1)

(Simplify your answer. Type an exact answer in terms of .} V,- g

The approximate volume is ’ {2) S g \
(Simplify your answer.) ' V j(?/;) //]//) .

The exactsurface areais| | (3) ~ten S V= % 2< / 2(C) I

{Simplify your answer. Type an exact answer in terms of rt.) |

The approximate surface area is ! I My & 2~/
{Simplify your answer.) __ V - 3( 63 1
—

3 ( 7) gl P
| . | S
{1) O inches (2) O inches (3) O inches (4) O inches ey Q 0 7 /
(O square inches () square inches (O square inches () square mches /
() cubic inches (O cubic inches (O cubic inches () cubic inches —e

_ L
Answers 288x - ;/77 /

L
{1} cubic inches 15':: gl 77 ﬂ’/]
sos .))‘c ‘/77/5)/(/

7

V< %ﬁ‘ (Q/C) V ff-ffy "
| Vf i{az)/w ‘

(2) cubic inches
144xn

{3) square inches

4
452 7

(4) square inches - Cf _5" &_ s .
7. usd

27 of 55 2/19/2019.3:23 P
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. - e
) E L-' i "-u\______\_'_._'_,_
85. =Tl e 22 4in
Firid-the-voltime of the solid. Give an exact volume and then approximate using - for m.

18 in

S) :LV mﬂ

The exact volume is I (1) r= Z:L / / V;—r— ) Zl ( lﬂ'}
{Simplify your answer. Type an exact answer in terms of n) r= % - iy ( 2) (Z) (' 7 )
The approximate volume is : (2) @ V (0 (Y) § /
(Simplify your answer. Type an integer, fraction, or mixed number) - 11 ﬂj_
(1} O inches (2) O inches ooy ([""" 7 Z @
() square inches (O square inches 7j U I w nA_—
O cubic inches O cubic inches 18 27 / 72)

Answers 72n ‘/: 7‘ ( Z) ( ¥ ) \//-’/ /75' X |4
(1) cubic inches )
/< ?} (1)) (1Y

N
225 (/':_Z/i:_((()(/jj @2’6 %
/——""\__Rc (2) cubic inches B /—z __ﬂ_l,(ol A V - Z 6 e ZZ i 7

86. Find the volume of the solid.

The volume is| (e

(1} O centimeters
() square centimeters
() cubic centimeters

Answers 125

{1) cubic centimeters

28 of 55 ' 2/19/2019,3:23 Ph
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87.  Find how many square feet of land are in the plot shown on the 1O fect

right. A"— : 4"%44)” : 5 e ,‘? H
e f et
A§ (urniro Pk

A—'- ‘«LZ_ (2?0)(743) < 130 :‘2.;

The area is : square feet, A - ZL(/G Jou )

(Simplify your answer.) A & ./ ¢ 7o

| Answer: 8400 (%\
e Ry A IR

88. Find the exact volume of a waffle ice cream cone with a 3-|n dlameter and a
height of 17 inches.
‘/‘r J—' 3/
17 in,

Lf(l.s*?’n)
St V< fﬂﬂﬂﬁdﬁa

The exact volume of the waffle ice cream cone is [: (1)
{Type an exact answer in terms of x. Use integers or decimals for any numbers in the expressmn ) (2 .2 }
(1)

{1) O sqgin.

O in.
O cuin. (/T 3]7\652’5—)
g V- '34.z~. 4

e ___—C V” /2- 7ff/:r.___.x3\

89. A compuler has shape of a rectangular solid. Find the volume of the computer, with dimensions of 4 inches by 4 inches by

4.8.inches. /= (5 (,'/—.;g; He ¥ y 4= Cﬁ//—/

The volume of the computer is !:] (1) V - ( 9’) / (P) ( 9 7 ) lf"
(Simplify your answer. Type an integer or a decimal.} ' C/ ?
(1) O in V= /% (%D (

) cuin i ?<_'/i
O sqin: C(/: 760 ? 537{
Answers 76.8

() cuin. [/(){V“M* 7(.f

Answers 12.75x

{Ncuin.

29 of 55 2/19/2019.3:23 Pi
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— == ~%6
90. Find the area of the shaded region. Use the approximation 3.14 for . D D V 0
V= % 36i :
. 36 ).II'I. ;C
A

"H n veid kf"‘j
- Ep \/ Ao
) ﬂ"

(Simplify your answer-Type-a (l /41:: 77 c r=1 Zx —_ A Z/
e

(1) O in A- 2/vr " , /
8cum ALZ?-/V//Z’) A //27(0\3
sqin

AT 30 1009) —10/7.26

Answers 278.64 ‘% A&' 2/ (32 5‘/ I/’ 2739 6
(1) sq in. ' /a2 alof
= e /4?:/”7 3__( / TS lrr 2%,
—— \""‘—'—--—-—-\_‘___‘___ J—

91. Solve the equation. B S,
-3y+3= -3(2y+4) }77" )z —3(87M
Select the correct choice below and, if necessary, fill in the answer box to complete your choice.

“37—f—}:—bj—-12_

O A, y= {Type an integer or a simplified fraction.) —_ 37 ~+3 3/ = =l (2 -3
= - - -~ —
() B. The solution is all real numbers. o, 7
(O €. There is no solution. -2/‘7 7 —/<
=39 46y =g ATy
. - . FY = [ _
Answer: A. y= ! -5 {Type an integer or a simplified fraction.) —
. 39 _ X = -
92. Solve the equation. Lv_\(x
18x-7 =5+ 16x (EX~] = 5/ ¢x

Select the correct choice below and, if necessary, fill in the answer box to complete your choice.

(7K =727 = £/ x +7

O A. x=
(O B. The solution is all real numbers. . /7/( "/GX +/L
() €. There is no solution. /'Z)( — 6 A < /6 X /¢ d/{(
Answer: A.x=| 6 | L ¥ = /L
Al
7 2
g e
\_—/__\__4/%—— T ———

30 0f 55 2/19/2019, 3:23 PA
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. Salve the equation. —-3 g)(/z .:}X
- 3(3x - 8) = 3x

Select the correct choice below and, if necessary, fill in the answer box to complete your choice.

_ — GX A4 27 3%
O A, x= (Simplify your answer.) —§)<,{,2Jc’,f ,_.Zﬁ/ -3 '

(7 B. The solution is all real numbers. - _ _J
) €. There is no solution. 7 X -~ 3X W y
~GX =34 =IXTES DX

Answer: A, ":E (Simplify your answer.) —2 X ==Y ﬁ

L’ - H-ME \\.___4—"—‘/
94, Solve the equation for x.

3x-4)-4=-16 }()(_,(7/) "'(f:"/é
Select the correct choice below and, if necessary, fill in the answer box to complete your choice.
3—[1— ¢ =76
O A, x= (Simplify your answer. Type an integer or a fraction.) 3 X — 6 - ,/ ¢
() B. The salution is all real numbers.

(O C. There is no solution. 3 X '-‘/ ('4/(1/ = —7/{—7"/ 4
2= O

Answer: A. x = | o l (Simplify your answer. Type an integer or a fraction.) 3,L — Q_

95. Solve the equation.

9-2(a-1) = 8+a
Select the correct choice below and, if necessary, fill in the answer box to complete your choice. q_z / G—( ):' ﬂzﬁff,
I—2a-+2 = §+ a_

OA. a= {Simplify your answer. Type an integer or a fraction.)
() B. The solution is all real numbers. '2K _f'“ = f"’f’ A
() C. There is no solution. "'26\—1‘;}«\'—-(/( — 1T &K—|)

~2A<&K—3
-G —& :/a—z,-—/(

Answer. A.a= I’ (Simplify your answer. Type an integer or a fraction.)

—— =g ==

. - o e — ——g
96. Solve the equation. \_’R-}’j&_ T =

-2y=-9=4y+15 __27_5: \,‘77"11
A
Select the correct choice below and, if necessary, fill in the answer box to complete your choice.
—2g— G145 Lo+ §
O A y= {Type an integer or a simplified fraction.) —-Z 7 - 9/ 7 ‘f' 2

(O B. The soiution is all real numbers. -2 7 ,_yj o~ % - 24— «,/7

(O €. There is no solution.
— G y T 2Y

29
Answer; A. = Type an integer or a simplified fraction. e (A =
rAy (Type an integ pi ction.) /ég, =
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7 ZX[V £(c)<-

IX( 1)+ 90(()::%4(1)
X T ¢ =

, fill in the answer box {o complete your choice
= Y —

X —F
I 2x =-Y

() B. The solution is all real numbers,

() C. There is no solution, Z)( - :Z—

Answer: A.x=[ -4 () X—-— __..% ‘\

98. Solve the equation. ﬂ, V{33% _/_d Vs r(?g)—:a ¢
0.10x + 0.25(70) = 25.5 Oe/JOX —F /7.5 = 2.5,

Select the correct choice below and, if necessary, fill in the answer box to complete your choice

de /0 X 7‘-/?4’/;{{1': LSav—I7, v
O A - aa/UD(_f

() B. The solution is all real numbers.

(O C. There is no solution. . 0"/0)< — _}i_

97. Solve the equation.

4
"5

[LYN N
[

X+

Select the correct choice below and, if neces

OA. X=

0:/0 OO
Answer; A. x= { 80 @
. e———
99. Solve the equation for x. T

(1) =Sz
TX— 3= S5x-3

Select the correct choice below and, if necessary, fill in the answer box to complete your c)h?c
A= al-yF

3(3x-1)=9x-3

O A x= (Type an integer or a fraction. Simplify your answer)
- 9 XK= 9«
() B, The solution is all real numbers.
() €. There is no solution. ? ¥— 9 X =S A- ’x

020
Answer: B. The solution is all real numbers. C_L/L ————
>, (4#(:..)—] /b__ ;:z_:f’//’a/_'__w-,z ¥,

100. Solve the equation for x.

2x+1=2(x +4) &K”{-/ = Z—()(v‘y/
X+ — Ll

Select the correct choice below and, if necessary, fill in the answer box to complete your choice.

. B 2ict (Vo= U G~/
O A, x= (Type an integer or a simplified fraction.)
(O B. The solution is all real numbers. 2 4( 4 )( ~t 7

(O €. There is no solution. 2)(.____29/ - ZX — 7 /

ZT.;'.’H_ v MJO.:: Sol %_Iju.q B
) e s e e

320f353 323 P

F

Answer: C. There is no solution.
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-1;'1‘——;)_';.— 0 V)( — Z‘/ 20 ¢
O- A ~26G 224~ QY+l
O X=2.¢

Select the correct choice below and, if necessary, fill in the answer box to complete your cheice.

r com/apilv L/print/mat

04x-2.4=04

O A x= (Simplify your answer.)
(0 B. The solution is all real numbers.
() €. There is no solution.

Answer: A. x= (Simplify your answer.)

102. Solve the equation.
Ix-19=2x-19
Select the correct choice below and, if necessary, fill in the answer box to complete your choice.
OA. x= 33(,—/ 7 <2X—~9
{0 B. The solution is all real numbers, i
() C. There is no solution. 3)('_/% /fﬁ Z}(/"/}’%//(
answer: A.x=[ 0] 3V =2X
[ <O
(X = O
7
Q _______.—o—'—'_'_'__'_'_#_r--f

b I e o -"/——\_
—

330f5s 2/19/2019, 3:23 Ph
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B

— ______th_'f’;———-ﬁ____ﬂ_d__—dd—__‘“—— —
103.  The perimeter of a geometric figure is the sum of the lengths of its © X centimeters ———
sides. The perimeter of the pentagon (five-sided figure) on the right . )
iS 45 centimeters. X cenumeters X centimeters
a. Write an equation for perimeter.
b. Solve the equation in part (a).
¢. Find the length of each side. 3x centimeters 3x centimeters
a. Choose the correct answer below, —
Xt Xt X~ 3 x5 = &«
O A x+x+x+x+x=46 (X7 (XX #3f= F
f@B. X+x+Xx+3x+3x=45 -
TOC. x+x+x+3x+3x=9 ?)C =
O D. g¢®=45 X — ¥y
7 i
= : {Simplify your answer.)
¢. The shorter sides have a length of| (1) (Simplify your answer.}

The longer sides have a length of l {2) {Simplify your answer.} /

(h O cm. (2) O em. 544// jﬂ/@_’
2

O om? O cm

. : ) Cokp( §/Lé:/t X = 2(;),—6
Answers B. x+x+x+3x+3x=45 Q T /5‘

104. A toy ball in the shape of a(sphere pxpands and contracts. When it is completely clnsed it has a dia .5 inches.

Find the volume of the sphe n it is completely closed. Use 3.14 for .

4
(Hint: the volume of a sphere of radius ris —. ) D - Z’} 5

3

The volume of the sphere is approximately ' (1) _u__.p, &( }‘J/(_f) (’Iéﬂé e Zg ‘/37'5

{Round to the nearest whole
( 235

(1Y O sqin.
) in.
b cuin.

Answers 6752

{1Ycuin.

. PR 4
34 orssl\ 2/19/2019, 3:23 PA
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V = Frro,
=G ()

= 7—(3./% J@Gie)
V= :: {Type an integer or a decimal. Round to the nearest tenth as needed.) ‘f:' % ( 3 /q) ( f )

Answer: 33.5 = %3 ({733) 2 ?I(Z{:/ 1')
— —___a_éﬁ—_é} S JJK" @’){%

106. Graph an inequality on the number line. Then write the solution in interval notation.

MATHF-8THGRADEWARMUP149M-Alfredo Alvarez _ _https:/ixlite

105. Substitute the given values into the given formula and solve for the unknown variable.

r3. r=2 (Volume of a sphere) (Use a calculator approximation for x.)

X-4z -3

Graph the inequality on the number line. Choose the carrect number line below.

O C. <t ——— () D,
5 4 3 2 41 01 2 3 4 5 5 4 3 -2 -1 01 2 3 4 5
O E <~<+———+—+ ) F, el ——|—|—} >
-5 4 .3 -2 10 1 2 3 4 5 5 4 3 2 101 2 3 4 5

The solution to the inequality x-42 -3 is :
(Type your answer in interval notation.)

Answers

A f——
E. 5-4-3-21012345 Xﬁy >/._3

[1.0)

350f55 2/19/2019,3:23
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R _'_'_‘—‘—'—-—-—-_.________\‘_‘_

107. Solve the inequality. Graph the solution set and write it in interval notation. TEe——

5x < -30

Choose the correct graph below.

O A, ety ————————+——+—++> (O B.

8-76-54.3.2-1012 345678 84-76-5-4-3-2-1012345678
O €. @ttt —tet—t——+> (O D.
8-76-54-3-2-1012345678 B8-76-54-3-2-1012345678

() E, il jj——p—)> | F,
8-76-54-32-1012345678 8-76-543-21012345678

o
The solution to the inequality 5x < - 30 is r:_:’ S )( ( = }’J
{Type your answer in interval notation.)

Answers

A 876-54-3-2101234567

(~0o0,~6)
_._,_.—-—'_'_'_ »
. . : e — 0
108. Solve the inequality. Graph the solution set and write it in interval notation. \\—___-—/ :
-8xs24

Choose the correct graph below.

O A . O B.
8-76-54-3-2-10123456T78 8-76-5-4-3-21012345678
Oc. (ﬂ-l-l-l-l-l-l-v-l-l-l-]—l—l—l—l—H O D, = '
B876-54-3-210123456 78 476543210123 45678

O E. -Cremm———p—————(———— (") F.
B8-7-6-54.3-2-1012345674 B-7654-3-21012345678

The solution to the inequality —8x<24 is l | — 5 )< < Z &

{Type your answer in interval notation.)

Answers
D. -8-7-6-54-3-2101234567 8

[~3,00)

36 of 55 ¥ __2/19/2019. 3:23 P!
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405, Solue-the-imeqUzNtyGrap e SOIlon 58t and write i in interval notalon. ———

-09y<-45

Choose the correct graph below.

O A, et ——— () B,

8 6 4 -2 0 2 4 6 8 1012 8 6 4 20 2 4 6 8 10 12
0) C. it} > () P, it ——(——————->
8 6 4 -2 0 2 4 6 8 10 12 84 6 4 .2 0 2 476 8 10 12
The solution set in interval notationis| | '_O' 6? <%
Answers -_0/'29— > ’
<t — .5 -0 7 "
A 864-202 46 81012 —
{5.00)
P e
110. Solve the inequality. Write the solution set in interval notation, S
~4<xss - L XS ~lw)
The solution in interval notationis | | ~Y —5 < Xr5- r/’_\
> £X L >
Answer: (~ 9,00) m \) —~ -9

— e

111.  Solve the inequality.

3% < JK+3

4x-3<7x+3 96("}4/5’< 7)("1"'3 +3
The sclution set is :] {Type your answer i G < 7;{ - ¢
prsver (-2 VX T AL TRt eI
nswer: (- 2,c0 ot I —I X G
—2%
‘\E >

112. Solve the inequality. —
- 272 (3x)

The solution set is |:f (Type your answer in | otation.) -—‘Fx_,«-/i"-l "} 6—C X —UL
' —~F = TIXH Y
Answer: (- co,~2] XA Yot = =X FYFE 4

e

113. Solve the inequality. ﬂ 6x—| )é Z}ﬁ"(’ E iK% £ v XL -2
I~ < ¢ox — %5 =
B{6x - 1)=23(2x-2) cfg)(%’:f/é ?GX ,__q 6’7‘ 3
The solution setls[:’ (Type your answerl interval nofatign.)
Yo € 76X —

Answer: (- oo, = 19] ?]’)( - 9’(’)( < %3

370T5% T —— = Z
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114. (\‘ S\

Find the x- and y-coordinates of the point C. wa
1 ic
L
The coordinates of C are ] : 4]
(Type an ordered pair.) ]
21
| x
L I S S S S S Rt R M S g
-6 -4 -2 i 2 4 6
-2
-4
-5

Answer: (1,5)

IRl 55 20010 221 PA
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15.
For the equation, find three ordered pair solutions by 4
completing the table. Then use any two of the ordered pairs 10
to graph the equation. o
. '
y = 3 X , 6'
ﬂ L Lv‘—)— 4
Complete the table below. -~ 2'
/ ]
O T / T T— T A S R M o
! _ (- 10 B -6 20 4 6 8 10
| |
‘ | ||I 3 /) -2
1 4
Use the graphing tool to graph the.equation.” - _6:
-8~
-10-
Answers 0 {_j_
1 —Gl —L
pemm————
-2 o] O
31
UF,.—F'_‘—\-\.

39 of 55
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B —

116.

For the following equation, find three ordered pair solutions

by completing the table. Then use the ordered pairs to
graph the equation.

y= =3x+1

Find three ordered pair solutions of the given equation_.\\“

|

( 0,1 )

Use the graphing tool to graph the line.\ | }

(1,, B g)

\II:

https://xlitemprod.pearsoncmg.com/apifv E/print/ma

y =

L]
frs]

t
[=2]
N
N
(W
b

24

-6~

-8~

Answers 1 / y: F_/S)(*/
= j': "3(“4/
-5 \7 a O"f/
10l ") 3
8 \
#inS ( 1)~
Vi )
4 (0'\) 7 T ’3/{’
10, 8. -6, 4 -?4 2’:(!'4’2_)6'& 15::; \77,-77(’2)’(’(
e Tl
4 l)”'s- =
_ ol
N

40 of 55

fuy N

o]
—
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117,

Graph the equation. vTv
y=3x+4 1
4

Use the graphing tool to graph the line. 125

Answer:;

| LI I NLANLAN Ik S 2 e 2 L
20 <960 120 B -

41 of 35 1IN0 37T PA
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118.
Graph the linear equation. wny
=15x-2 :
Y X o
Use the graphing tool to grap% 64
4
p 4
T X
|l i2:4 68l
N
4]
-6
-8
-10-
( SX e )( 7
Answer: / -
— -y
, 5K [
L5 -L
-2
e
7 Z Taq S
"--..._|_‘_ -
L = e
119. Find the §lope.of the line that goes through the given points. ﬂ'{ - { e (—’5) ~( ~b)
—
(1
(-3,6)and (-6, 9) / M < §_:_‘L
A . - —
Select the correct c’g?éice below and, if necessary, fill in the answer box to complete your choice, 3T 6
— i
O A, The siope is . {Type an integer or a simplified fraction.) /H — 3
(O B. The slope is undefined.
-
Answer: A. The slope is El (Type an integer or a simplified fraction.)

42 of 55 2192010 327 PA
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120. Find the slope of the line that goes through the given points.

121.

A7 < Z’_:._’{L__ (/")"(3)
-~ O (-

(-4, ~10)and (-4, 3) 'f/r A7 ¢ (=<

b X2 9o o3

Selectihe correct choice below and, if necessary, fill in the answer box to complete your choice. ~

-ty
L) A. The slope is . {Type an inleger or a fraction. Simplify your answer.) —/ 3

() B. The slope is undefined.

O
< ,
Answer: B. The slope is undefined. @ﬂ{ A ;An.c/ )

Find the slope of the line that goes through the given pointsﬁ — 7] g é 2 o _,C S )
(1, -8) and (-2, 5) /,,( C/ ) — (=D
N ' Bl R —_
Selgg the céarrect choice below and, if necessary, fill in the answer box to complete yoﬂonce — ;L
- L

(0 A. The slope is . (Simplify your answer.)
(O B. The slope is undefined.

13
Answer; A, The slope is e . (Simplify your answer,)

122.

43 of 55

Find the slope of the line that goes through the given points. q{ . 7( ( / : L :_/ / . )

(61)and(41) /= {1~ ~ (¢’ —C v )
Se(ct thé correc% chcuce below and, if necessary, fill in the answer box to complete your choice. — _{.:_/.
6=y
() A. The slopeis . (Type an integer or a simplified fraction.) /)? O
() B. The slope is undefined. ' ~ o
Answer: A. The slope is [Il (Type an integer or a simplified fractjgf.) - O

200970100 323 PA
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123,
Find the slope of the line if it exists.

hitps://xlitemprod.pearsoncmg.com/api/v | iprint/m:

_‘—‘—~—._._\_\___ e ———— —\_\_‘_\_‘_\_\__._-“

Select the correct choice below and, if necessary, fill in the
answer box to complete your choice,

O A. The slope is .
(Simplify your answer. Type an integer
or a fraction.)

() B. The slope is undefined.
(&

(0,5 (¢,-»/ 7=1"%

-8
X\ e I (= - 7
M=) (=) [(T = =
_ ©) —(2)
-8 - :
M ST¥
; d-
Answer: A, The slope is ey -(Simplify your answer. Type an integer or a fraction.)
o = e = — e Sl e ——
R SR Tt _—‘_'—_———__ as
124.
Find the slope of the line if it exists. Select the correct choice below and, if necessary, fiil in the
answer box to complete your choice.
A
8- ¥
] O A. The slope is )
1 ] (Type an integer or a simplifie
éq) 4 O B. fAetQBRe is undeﬁr:;d.
2+ —
- 9 -4
] S Y 7 Bl )
| A — ™7 | L | T %62) (—’? ’-‘J/ /77 /,,./
8 6 4 -2 4 2 4 & 8 v Ve { w
44) Il YN A - (2 )-F3
-4 -
i ]
C : € )—()
-8

Answer: B, The slope is undefined.

44 of 55
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125. =
For the graph on the right, determine if the slope is positive,

negative, zero, or undefined.
(56)/3 2) 659 4

Choose the correct slope. X‘ ‘ xl ‘.7‘_’

O A. Zero /’7: 65 2,) a

(O B. Undefined i ok
(O €. Negative /\/ A 108 6 |-

O D. Positive /47 __(_6__):__@)
(-2)—(-3)

- 622
M= 55

Answer: B. Undefined ’_{f_ ) B
’ m= 5 (19 A @/

126. Find the domain and the range of the given relation.

E
B R e R P R R RaR i
214 61810

{(5,~9). (-8,-2),(~3,-6),(-6,-3)}
The domain is ﬂ:} (Use a comma to separate answers as needed.)

The range is {:ﬂ, (Bse aﬁmma to &%araténswers as er.-dec@

(g -a) (~4,~%) £_3;LL

Answers 5,-8,-3,-6 Aumalﬂ 1_.(5_

-9,-2,-6,-3
Rensze = $-19
127. Find the domain and the range of the relation, ar/ pf/
{(~7.5)(~B.5)(~1.5) ( “7/ 5 ) ("( <

What is the domain of the given relation?

@ {Use a comma to separate answers M

What is the range of the given relation?

"T:[} {Use a comma to separate an

Answers —7,-6,-1

5

A5 ~F RS FHORIG 2.
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i -‘-‘.._,______—__—-_-_‘_‘_‘_-_\_

128. Determine if the given relation is also a function,
Ye o

. b0 4./ G o/
{(6.8), (=7.-2). (7.7), (- 4.~ 3)} (r‘vzv( N /
Is the relation a function? 67/ =2 ) ('7/ 7 ) ("’ (;? 'S)

) Yes
) No T~
Answer: Yes Q fo 2 Z[V\ “ CL( o /‘ £>
-Ht:_""‘— ____-_.t._._._--——""._ = == . _'_._._:—_"_'_—-—m:_':"-‘—u-.:._\__\_

129. Determine if the given relation is also a functlon

{(9.8), (8.~ 2), (8.7} 0?- a Z'ZMH o wa

s the relation a function? ? X ) M ( ﬁ“ = &) / 6 7)
Sues A(Ph yzews

) No
) Yes

Answer: No

130. Determine whether the graph on the right is the graph of a function. \y
i . 4
g &
(2, %) -3 ) i
/ / 1% :

Sl x=2 g fo 3 af =3

o
i
E-.
(083

O No
) Yes

Answer: No

o il TS W

a6 nf 3% QN0 271 DA
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S

Determine whether the graph is the graph of a function.

Is the given graph the graph-of a function? B i =
0 :o T ~30) 1) (9,2) (1,3) @/0) (£0)
) Yes T—— _ _ i
Answer: Yes
b —
132.

Use the vertical line test to determine whether the given
graph is the graph of a function,

Sracd alf yetied
/l/rf.‘( /hl#‘f}cc./ —JLA/( j"’"}ﬂﬁ
OWQ e Arerq Lhis 1
Ca //f"l C/‘IL v

Is the graph the grapb-of-a fanction? Choose tj?rrect. answer below. / \I/

0w (YES & Fonchon L

Answer. Yes

47 of 55 2197019 3723 PA
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133,
Use the vertical line test to determme whether the given

0,7 =7 /0 -37/
OJU*’S Lo Aew c/// h““l"”i

Is the graph the graph of a function? Choose the correct answer below.

) Yes
) No

Answer: No

134. Given the following function, find f{ - 4}, f(0), and f(5). f

f( = 4x +2 é}: sl 7@)’%«/—/—1 //()C%é%

Answers - 14
2 |
22

135, Given the following function, find f( - 3), f{0), and {(4).

fx)=x"-3 ,\/] )(2 3 _ ,
f- 3§):/§-3) £3)t-3 A0 (93 | A15) TNE) >

S —2 /u—:s)- ;f’ Z Do~ f74) < g~
w1 frey)= G-3 )17 073

- A=
Answers 6

—

48 nf 55 21197019 323 Ph
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=736, Findf(-1), f(0) and f(3) for the following function.

f(x)= = 2x &) <=2 X

137. Find h{ -3}, h{0), and h(5) for the following function.

h(x) = 5x° - 5 ﬂ/p\// (vt —g

h(-3)= : (Simplify your answer.) ﬁ / }) s __3) "S 4’0/ j—(()%/)
hoy=[ | (Simplify your answer)é( 3’ -W/ 5 )( 3) .f’. A/O/ é—(/O — 7
h(5) = : (Simplify your answer.) é{_}) 5-@ /__' _j‘J

Answers 40 é/ }) & J—=

. Ch =99/
120

Find the domain and the range of the function graphed to
the right.

The range in interval notation is [———!

Answers (- oo, co)

{2, o)

49 ol 55 7100/010 172 DA
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139.
Find the domain and the range of the function graphed to A

ﬂ . \ /‘
/) -1'[.'II i : L] '1|0
/éuf/d\ /j _“‘**-—-..‘_\ ]

(==, oﬂ)/ "

The domain in lnlerval notatlon IS

The range in interval notation is [:

Answers (- 00, o)

(=00, o)

s T M“-—'___'_-—'_-_—-_'_'“‘“--:E_ 2
140, Maﬂ/ﬁ// /’lj/?"‘ ‘ 2

O A {-86) () B. (—00,-8)U(-6,00)
(€, (=o0,00) () D. None of the above

Choose the correct range.

O A, (~00,—-B)U(-86,00) () B. (=o00,00)

(O €. {-86} [ D. None of the above

Answers A. { - 6)

B. (= o0,00)

50 0f 55 : F10/M10 171 DA,
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/141_ CL)!’WC:V( /A’/‘F/ r/;»c,()

)
e main _the—r“an.‘e_W
rdﬂ_),z, H'j\ ﬂﬂ)

&3

Choose the correct domain.

O A (0,2} U (2,00) O B.
Oc {2 ) D.
Choose the correct range.

O A, (-00,:) O B.
(JC. (~0,2)U(2,0) O D.

Answers B. (— co,00)

B. {2}

(- 0,00)

None of the above

{2}

None of the above

142.

Use the graph to complete the ordered-pair solution (1, _

for f.

Answer: 1

)

51 nF&g

QN0 297 DA
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!"_'_._'_'__._._'_'_'_ -q__-____“_‘___'————____
143, i T
Graph the linear equation. : v ——
1
f(x) = 2x
{x) .
ke
Use the graphing tool to graph the equation. 6
y — ,
/ | 2
X
O T T — T ™1 TT— 1>
) |86 4f2: 124 8][8]10

Answer:

52 of 55 2110/7010 373 A
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144, ___J
4\-G|:ap_h the linear equation.— 4

hy
10
f(x})=-3x+6 ]
8_
Use the graphing tool to graph the linear equation. 6+

Answer:

530f 55 2/19/2019. 323 PA
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145, Graph the function.
f(x) =3x+1

Choose the correct graph below.

Cfi)=34r [

() B.

Answer:

/@/-—3//4/ /) M)~/
((

D [ =

e ——— e s

3 7
146. The function V(Jn<)=x3 may be H.cm V{;(/) .—)/ V (/gr) ‘:(/97
ciewinass i V() < ()
V(lv)=/96(/~)

the volume of a cube whose L

side is 14 centimelers.

Xcm

Answer: 2744

147. Ify varies directly as x, find the constant of variation k and the direct variation equation for the situation.

y=5when x=35 \7 — /CX

Find the constant of variation k.
k= I:] (Type an integer or a fraction. Simplify your answer.) _S - /< ( 5 5 )
Complete the direct variation equation given y = 5 when x = 35. S-",- 3 S-IC

I (Use mtegers or fractions for any numbers in the expression.) 3 ¥ L/
—_— m———
25

Answers 1

SO AETTT TR
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148. The amount P of pollutionWaries directly with the Population N of people. City A has a population of 494,000 and \

produces 280,000 tons of pollutantsFind how many tons of poliution we shoutd expect City B to produce, if we know that
its population is 344,000, Zkx )

City B produces l ftons of pollution. i 5 Odoo = !k @7? [ O) -

(Do not round until the final answer. Then round to the nearest ton as needed.)

L
260002 — I (¥940)

Answer: 181,053 gz?? OB W

- — B (o] r@é‘j"/“??““t‘jc

F_'49T.. ;nd the exact circumference and area of the circle. _"'“-;_\\
\ V< .52C3/57 X /
} 9= -5263/57 (355000

/.f y: /f/a_s’"z_.-(a-—'f

————
The exact circumference is! ’cm. \. —_ / 7 / & 5 3 (
(Simplify your answer, Type an exact answer, using 7 as needed.) \ \\7 N

\ ) d v

&

——

The exact area is [:[sq cm.
(Simplify your answer. Type an exact answer, using x as needed.)

Answers 8r

16n

C <7D




